CHAPTER 0 TEST ol

No calculators, no cell phones, just you and a pen/pencil.

Math 231
September 3, 2008 Name: X k-&v\ X

1«
5
” 1
g
§
2.
S { ¢
g
3%
V

W NV W

By printing my namd swear by the honor code.

Determine whether each of the following statements is true (T) or false (F).
T @ If a is a real number, then —a is negative. HN o.| ¥4
T @ Ifz>2thenz>3 HW ot ¥%b
@ F  There exists an integer = such that z < lorz >2. HW oM W 5-5

@F 35c{zeR|z—3>0}. HW 0.l 12

Complete each of the following theorems. In each case A and B are real numbers or
expressions.
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For the statement “If x is not positive, then |z| > z,” write down...

the converse: [_F lx.l ¥ X Aben x ;4 v\."’(’ Pos(-‘-\'\"‘t

the contrapositive: I‘F l)(.‘ <X , Yhom X is ""‘:’k""'

the negation: ¥ % nok r%;,\,{v-t o...,_* [)d < % /2« r‘]ﬁ"’/l‘ﬁ'ﬂl
a counterexample: %=0 all Hw o4 J:"-_-. M43

Circle the inequality on the left whose solution set is shown on the right.
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5. State the quadratic formula theorem and explain how to prove it. Don’t actually prove 3 fh Fravla
it or do any of the algebra steps, but carefully and clearly explain what would have to || |o pk r"“e

be done to prove it. "ﬁ hwf .é'
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using the method of “cases” that was done in class and in the reading. Show all work

clearly and in order. Take your time and write it up neatly, please. The quality of
your work and reasoning is worth more than your final answer.

6. Solve the inequality

';{L'}Z > 72 when! §22(x1) 27 21 7 b2k BV x=3
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